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Solving Mixed Problems (+ -) Name:
Find the missing value in each of the problems. Answers
1) ?+37=83
1.
2) 30+7?=60
2,
3) 98=97+7
3.
4) 73=?+34
4.
5 ?=34+1
5.
6) 81-11=7?
6.
7) 80-?=8
7.
8 ?-31=9
8.
9 ?=89-59
9.
10) 70=79-7?
10.
11) 81=7-18
11.
12) 718+6=7
12.
13) ?+3=93
13.
14) 43+?=70
14.
15) 51=20+7?
15.
16) 71=?+41
16.
17) ?=10+66
17.
18) 62-14=7?
18.
19) 88-?=78
19.
20) ?-56=236
20.
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Solving Mixed Problems (+ -) Name. Answer Key
Find the missing value in each of the problems. Answers

?+37=83

1 46
30+?=60

2 30
98=97+7

3 1
73=?+34

a. 39
?=34+1

5, 35
81-11="7

6. 70
80-7=8

7 12
?-31=9

8, 40
?=89-59

o 30
70=79-7

10 9
81="?-18

1 9
78+6="

12 84
?+3=93

13, 90
43+?=70

14. 27
51=20+7

15. 31
71=?+41

16 30
?=10+66

17. 76
62-14="7

18. 48
88-7=178

19. 10
?-56=36

20, 92
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Solving Mixed Problems (+ -) Name:
Find the missing value in each of the problems. Answers
[ 10 39 99 1)
30 90 48 72 46 L
9 Sl 35 84 40 ,

L 27 30 76 30 70 )

3.
1) ?+37=83 2) 30+?=60

4,
3) 98=97+7 4) 73=?+34 5.

6.
5 ?=34+1 6) 81-11="7

7.

8.
7) 80-?=8 8 ?7-31=9

9.
9) ?=89-59 10) 70=79-7? 10.

11.
11) 81=7-18 12) 78+6=7

12,

13.
13) ?+3=93 14) 43+7?=70

14,
15) 51=20+7 16) 71=7+41 15,

16.
17) ?=10+66 18) 62-14="7

17.

18.
19) 88-?=78 20) ?-56=236

19.

20.
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